Week 5 - Lesson 1 - Add and subtract fractions

Add and subtract fractions @

o Complete the cloulations.
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o Complete the calculotions. u L |
Use the bar models to help you.
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o Ciora hos 2 % litres of juice. o Here are some froction cords.

She pours ::-utE litres of juice.
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Hon miany litres of juice does she howe left? 8 &

Use the cords to write pairs of froctions with a total of 2

Diora hos litres left.

o Fill in the missing numerotors.
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Compore aonswers with o partner. Whot do you notice?

(0,

Annie's rope is m long. Dexter's rope is |:| m long.




Week 5 — Lesson 2 - Add fractions

Add fractions

° Complete the cloulotions.

Use the bar models to help you.
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o Complete the odditions.
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o Dexter hos some tins of food. There are four types of food: beans,

sweetcom, soup ond tomaotoes.

» The total weight of all the tins is 2 kg.

# The tins of beans weigh % kg.

# The tins of sweetoom weigh % kg.

# The tins of soup weigh% kg.

a) Waork out the total weight of the tins of beans, sweetoorn

and soup.

b} How much do the tins of tomatoes weigh?

@,

o Complete the oddition pyromids.
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o Whot could the three missing numerators be?
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Week 5 — Lesson 3 - Add mixed numbers

Add mixed numbers

Whose method do you prefer? — How com Ron improve his answer?

Talk about it with o portner. @l

o Complete the coloulotions.

o Complete the odditions.
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e A blue ribbon is 2% metras long.

A yellow ribbon is 3% metres long.

a) What is the total length of the blue and yellow ribbon?

rm
b} A red ribbon is 1% metres longer thaon the yellow ribbon.
Howe long is the red ribbon?
i

e Caoloulote the perimeter of the triangle.
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o Complete the cloulation in three different woys.

Compare answers with o partner.

e Here are some number cords.
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a) What is the greotest totol you con moke with two cords?

b} What is the smallest totol you con make with tweo cords?




Week 5 — Lesson 4 - Subtract mixed numbers

Subtract mixed numbers

° Complete the subtractions. M

Use the bar models to help you.
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o Dencter and Whitney are using number lines to work out 1E - %

Dexter's method
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What is the same and what is different about these methods?

Use one of the methods to work out 1£ -
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o Complete the subtroctions.
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o A jug contoins 1% litres of orange juice.
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Howw much crange juice is left in the jug?

There are litres of orange juice left in the jug.

o Find three different woys to complete the colculation.
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Are there any other woys to complete this calculotion?

Three children take port in throwing competitions.

Here is the toble of results.

Jowelin Shot Put Driscus
1 5
Diencter 154 i T12 i
. 3 7
Arnir ‘IEIE i 12ﬁm
Annie 9 m 11i m
12

Use the clues to complete the table.
» Annig’s jowelin throw is % m less than Dexter's.
= Amir's shot put throw is% m less than Annie’s.

» Dexter's discus throw is % m less than Amir's




Answers- Lesson 1

o Complete the coloulotions.

Add and subtract fractions
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o Complete the caloulations.

Use the bar models to help you.
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) oo has 2 2 itres of juice.

-]

She pours nut% litres of juice.

How rmany litres of juice does she hove left?

Doro hos litres laft.

Fill im the missing numerotors.
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Compore answers with o partner. Whot do you notice?
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o Here are some froction cords.
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Use the oords to write pairs of froctions with o total of 2
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o Annie and Dexter both howe a skipping rope.

Annie's rope is % m shorter than Dexter’s rops.

The ropes are % m altogether.

Henwr long is each skipping rope?

Annie’s rope is m long. Dexter's rope is |:| m long.




Lesson 2 Answers

G Complete the additions.
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Add fractions

o Complete the caloulations. ERNLLYE :ID
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Use the bar models to help you.
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o Dexter hos some tins of food. There are four types of food: beans,
sweetcom, soup and tomotoes.

& The total weight of all the tins is 2 lg.

# The tins of beans weigh % kg.

s The tins of sweetcom weigh 15—2 k.

# The tins of soup weigh% kg.

a) Work out the totol weight of the tins of beans, swestoorn
and soup.

b) How much do the tins of tomotoes weigh?
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o Complete the addition pyrarmids.
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o Whot could the three missing numeraotors be?
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Lesson 3 Answers

Add mixed numbers

o Teddy and Mo ore adding mixed numbers.

Whose method do you prefer? _UO0oun
Talk about it with o partner.

o Complete the aloulotions.
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A blue ribbon is 2% metres long.

A yellow ribbon is 3% metres long.

a) What is the total length of the blue and yellow ribbon?

b} A red ribbon is 1% rmetres longer than the yellow ribbon.

How long is the red ribbon?

1 18 m
o Caloulate the perimeter of the triongle.
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o Complete the calculation in three different woys.
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Cormpare answers with o partmer.
e Here are some numbsr oords.
1 11 5 5 1 1
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a) What is the greotest totol you con maoke with two conds?

b} What is the smallest total you can make with two cords?
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Lesson 4 Answers

Pt |

subtract mixed numbers @ o Deceter and Whitney are using number lines to work out ‘Ii %
Dexter's method
. .
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Use the bar models to help you. % 1E 1?
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o Complete the subtroctions.
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o A jug contains 1%

15

litres of ocrange juice.
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How much orange juice is left in the jug?

There are

litres of orange juice left in the jug.

o Find three different wious to complete the coloulation.
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Are there any other woys to complete this calculotion?

Three children toke port in throwing competitions.

Here is the table of results.

Jovelin Shot Put Discus
1 5
Descter 151 m ?ﬁ m
. 3 7
Arnir ‘IEIE m 12E m
Annie 9m 11i I
12

Us= the clues to complete the table.
« Annie's jowelin throw is % m less thon Dexter's.
= Amirs shot put throw is% m less than Annie’s.

» Dexter's discus throw is % m less tham Amir's




